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EEEH 182 *46 256 +21 171 +0 226 %0

iR S 126.8 £ 7.6 1343 + 11.1 1149+ 46 117.3 £ 6.5
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BEHE HE 182 *46 250 *0 171 =0 226 +0

HTEHA T 126.8 + 7.6 132.4 +14.0 114.9 + 46 1173+ 65
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A B 1 A B2
HH 1 X 2 X 1 X 2 X
o—2 (5 — 6fuHEm)
PCS 2.3 £03 26 =06 23 03 28 £03
LfE 4419+ 24 416 £4.3 43.56 £ 3.3 4417 £ 2.7
afd 8.84 £ 1.1 8.86 = 0.9 7.78 = 0.3 7.31 £0.7
b fi 910+ 1.0 818+ 1.2 8.46 + 0.7 846 0.8
pH 551 0.1 565+ 0.1 566 + 0.1° 545 £ 0.1°
IMAERAER (%) 70.68 £ 1.6 71.66 + 2.3 68.13+ 2.9 69.90 £ 2.1
HEHR (cm’/g) 2342+ 27 21.98 £ 2.7 2623149 2128 £ 22
INEHACE (%) 2325+ 2.5 23.08 + 2.8 26.35+ 1.3 24.72 + 3.2
FEPERITR (%) 3990 £1.1* 4257 = 1.4° 4240+ 1.0 422515
WIENED;
mis (°C) 39.02 £ 2.1° 4279 £ 2.6° 4203+ 1.6 4290 £ 1.6
PFCS 1.7 =03 21 04 1.9 +06 20 =0
L i 3777+ 09 67.30 £ 2.4 69.64 £ 0.9 69.23 = 1.6
affi 1.74+ 0.3 21607 148 £ 0.6 2.06 0.6
bl 6.54 = 04" 7.75 = 0.5° 6.90 £ 0.7 7.14 £0.2

A-B=P<001l, a—b=P<0.05 (t — test)
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HxOBR 1 AOB 2
IHE 1 X 2 K 1 X 2 X
HEA R DEIS (%)
i
il 8.63+5.0 457+28 991 +48 2.94 +2.2°
LR 1289+ 4.2 12.93 + 0.5 15.97 £ 3.3 11.13+ 36
A 16.05+ 1.5 16.24 = 3.9 17.88 + 2.4 14.08 + 2.6
SARk ST 36.30 + 4.7 40.39 £ 5.6 31.58+9.3 25.78 + 5.8
OARY
Pl 9.97 + 23 11.82+ 45 12.80 +2.3 10.74 + 5.4
FROEB 957 +23 13.19£5.1 11.57 £ 1.4 12.90 + 6.6
A 1173+ 35 14.60 = 2.9 15.63 + 1.8 14.27 + 4.3
E3tho 7 25.01 +5.3 2223+ 45 2764 + 25 3271 +49
I BRY
P 82.57 + 6.9 83.61 + 6.0 77.30 £ 7.1 86.32 + 3.7
LR 77.70 + 6.6 7389 + 5.5 72.46 + 3.7 75.97 + 3.7
ANl 72.17 £ 3.2 69.16 + 6.3 66.49 + 3.9 70.94 £ 5.8
SRR 38.70 £ 8.9 37.39+ 7.0 40.78 + 8.3 41.51 £ 9.0

A-B=P<001, a—b=P<0.05 (t - test)
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= 2
HE 1 X 2 K
APHEHEAR DEIS (um)
I3
il 44,70 + 1.5" 51.76 + 0.3
LD 46.68 + 0.5° 52,13+ 2.3
S 47.26 + 2.3 56.82 + 7.7
SRRRT) 48.38 £ 5.7 53.25 + 2.7
OAK
il 48.56 + 12.4 42.74 + 6.0
g 40.57 + 6.9 4493+ 0.4
SR 40.23 + 1.4* 52.71 + 1.1°
SERRIT 4331+ 14 4539+ 25
o BX
il 50.15 + 4.0 51.88 + 4.2
HaLES 52.72 £ 3.2 5731 +£53
pasil 48.73 £ 5.3 59.46 + 15.8
SERER 42,55 + 3.5 50.45 + 5.1

A-B=P<0. 01, a-b=P<0. 05(t-test)
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